%BrownAnimaceMFF
clear all;
close all;
clc;
format compact;
format long;
 
VarEnd=47e-6/9.6*10,        %m^2
tEnd=10,                    %s
 
StdEnd=sqrt(VarEnd),        %m
StdEnd=StdEnd*1e3,          %mm
 
dt=.001,                    %s
 
M=tEnd/dt,
 
VarDx=VarEnd/M,             %m^2
 
StdDx=sqrt(VarDx),          %m
StdDx=StdDx*1e3,            %mm
 
randn('state',0);
%randn('state',2*M);
%randn('state',2*10*M);
%randn('state',2*20*M);
%randn('state',2*11860*M);
 
DxDy=StdDx*randn(M,2);
DxDy=[zeros(1,2); DxDy];
 
BrownXY=cumsum(DxDy);
 
scrsz=get(0,'ScreenSize');      figure('Position',scrsz);
plot(BrownXY(:,1),BrownXY(:,2),'g','LineWidth',2);  hold on;
plot(0,0,'r o','LineWidth',3);                      grid on;
title('\bf\fontsize{14} Brownův pohyb, zobrazení bez animace');
axis tight;                     axis equal;
 
h=axis;














 
%color=['r' 'g' 'b' 'k' 'm' 'y' 'c'];
color=['r' 'g' 'b' 'k' 'm' 'c'];
Ncol=length(color);
 
figure('Position',scrsz);
plot(0,0,'k o','LineWidth',5);  axis(h);
grid on;                        hold on;
xlabel('\bf\fontsize{12} x [mm]');   ylabel('\bf\fontsize{12} y [mm]');
 
for I=1:M;
    I1=I-1;
    J=floor(I1/50);
    plot(BrownXY(I:I+1,1) ,BrownXY(I:I+1,2),color(mod(J,Ncol)+1),...
         'LineWidth',2);
    
    if mod(I1,10)==0
        title(['\bf\fontsize{14} Brownův pohyb, animace   čas = ' ...
               num2str(I1*dt) ' s']);
    end;    
    pause(.01);
end;    
title(['\bf\fontsize{14} Brownův pohyb, animace   čas = ' ...
        num2str(I*dt) ' s']);
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